e =2 477 T84 (&9 2570 =)

chel e, &, %, $/kg

&9 271 2007 e 2007 118 () su8(2E) | susEA) | FEIHEA)
o g o g2 | 3o | m= | 39 | == | cooed | 20074
A 1,203,451 231,922 12,387,424| 2,448,449 8.2 5.9 2.5 1.5 5.01 5.06
1 ST 247,953 39,184] 2,570,455 122,699 7.2 -3.6 -0.7 ~7.6 5.66 6.08
2 o|= 141,544 29,560 1,599,794 324,651 —-11.5 6.4 —13.1 -3.0 5.50 4.93
3 H| E ‘= 115,135 17,784 976,514 139,956] 55.0 69.0 26.4 22.0 6.73 6.98
4 g3 80,265 11,801 827,766 129,225 -1.3 -4.0 5.9 4.9 6.34 6.41
S 2l | Alot 68,745 9,189] 699,418 100,192 13.4 5.4 5.1 3.5 6.88 6.98
6 o= 52,605 8,637 596,290 89,378 -7.8 6.5 -5.2 2.0 6.90 6.67
7 otfoflo|2| E gt 40,061 7,136 346,614 61,123] 24.3 44.8 11.3 15.1 5.87 5.67
8 AbClot2te]| ot 20,763 3,633 250,400 43,015 6.5 8.2 5.1 5.9 5.86 5.82
9 B 7| 24,048 3,868 248,655 45,621 25.6 -0.8 17.7 -4.5 4.42 5.45
10 = 21,772 4,204 248,537 57,676 6.5 2.7 24.7 19.1 4.12 4.31
11 ZalH 23,947 4,788 228,496 47,958) 30.6 176 -15.0 2.2 5.49 4.76
12 | 2 et 16,763 2,442 181,417 27,390 -2.1 -3.8] —-26.3| -31.1 6.20 6.62
13 =22 18,399 3,785 176,012 39,700 31.0 20.8 51.7 29.0 3.77 4.43
14 A 13,420 1,449 168,362 20,426) 12.6 2.9 39.9 38.1 8.14 8.24
15 o|E&2fot 13,642 2,790| 157,641 36,053 3.1 =12.0 14.6 16.8 4.46 4.37
16 ZEC|ot 15,112 5,906 150,221 58,383 15.4 0.3 36.5 11.2 2.10 2.57
17 Id= 11,776 3,060] 143,724 39,241 -6.6 | —24.2 11.1 12.4 3.70 3.66
18 B = 11,791 2,744 137,895 30,358 1.7 4.1 2.8 9.7 4.85 4.54
19 B{Alof 8t 12,750 2,775 135,893 40,204 -11.8 | -37.6 4.0 6.5 3.04 3.38
20 20| 16,380 3,266 126,378 31,059 44.4 8.2 24.6 7.1 3.50 4.07
21 HAIZ 10,317 2,200} 119,091 30,254 10.1 | -14.3 3.4 2.0 3.73 3.94
22 elCfof(el &) 10,590 4,211 112,069 45,723 20.9 12.1 -1.3 =7.1 2.31 2.45
23 22 Al 10,980 1,798 111,497 17,987 21.2 57.41 —-12.1 ] -10.2 6.33 6.20
24 CH et 11,390 2,618 110,303 25,176 —-3.8 -5.2] -17.0| -23.1 4.06 4.38
25 Ztet 9,414 1,830} 107,956 21,837] -25.4| -20.9} -10.8[ -15.6 4.68 4.94




& =% 477 Teay (&2 2571=

chel: M2 £, %, $/kg

s 251 20079 112(=g) 2007 112 (FA) SHUE(EH) SHE(FA) AT HEA)
=N =& =N S =N =& =N = 20064 20074
EA 790,918 132,851 8,235,612 1,339,596 4.2 0.3 11.2 4.9 5.80 6.15
1 = 533,071 85,255 5,237,568 794,293 3.5 2.6 15.6 9.3 6.23 6.59
2 O| Efz|of 33,047 645 469,525 6,904 12.2| -18.9 8.2 | -23.2 48.28 68.01
3 = 36,932 5,641 393,104 57,065 13.9 18.0 2.7 6.1 7.12 6.89
4 ol =4 Ao} 20,222 6,362 247,699 84,084 0.9 -9.8 6.3 4.6 2.90 2.95
5 H| E 26,824 7,192 235,845 69,728 28.3 26.6 34.5 29.4 3.25 3.38
6 o|= 23,358 3,027 228,028 27,520 35.6 46.1 12.3 19.7 8.82 8.29
7 olc|ok(lx) 19,055 5,984 226,535 71,945 248 | -29.5] -14.6| -16.9 3.07 3.15
8 cH ok 11,143 4,197 145,219 62,703 -8.4| -23.8 0.0 -4.2 2.22 2.32
9 Ef = 8,396 1,811 103,423 25,518 -6.8| -15.0] -10.8 -9.4 4.12 4.05
10 T}7| A Et 9,388 4,193 96,902 43,885 -5.9 -9.0] -13.2| -15.6 2.15 2.21
11 TZA 7,282 145 87,449 1,318 -12.9 37.6| -15.6 5.3 82.80 66.36
12 =] 7,312 567 74,087 6,486 38.7 28.7 9.8 4.2 10.84 11.42
13 d= 6,245 408 66,610 5,848 -13.1 -37.3| -11.0| -33.3 8.54 11.39
14 QAEZ o} 7,327 2,493 64,122 22,383 54.3 36.9 21.8 17.4 2.76 2.86
15 32 4,649 158 53,294 1,749 -19.0 -0.9] -17.5| -21.6 28.96 30.47
16 atzf| 0| X| o} 3,754 1,060] 43,056 12,511 -23.8| -34.2 2.0| -12.8 2.94 3.44
17 E{ 7| 2,714 187 38,345 2,469 91.0 46.3 8.6 5.0 15.03 15.53
18 HEEtE 3,092 191 35,555 2,499 -2.5| -24.2 5.9 10.7 14.88 14.23
19 o| Qkal} 2,076 189| 29,576 2,546 -16.4| -31.5 72.4 65.9 11.18 11.62
20 =z ® 2,480 377 27,301 2,478 146.0 | 232.9 76.1 78.1 11.15 11.02
21 Ftetct 3,207 555 27,281 4,437 49.2 107.0 5.8 10.7 6.44 6.15
22 PN 1,592 52 22 121 1,091 6.1 -56.9 22.8| -15.2 14.01 20.28
23 AQA 1,610 20| 20,816 329 55| -26.1 -0.5| -47.1 33.68 63.34
24 sF 1,159 96 17,393 1,572 -31.7| -25.3 11.6 14.9 11.39 11.07
25 A 2l 1,088 47 17,139 927 -53.1 -70.5| -29.4| -53.4 12.20 18.48




